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Refer to the opposite circuit. Let v¢(0)=30 V.

Determine v, Vy, and i, for t >0.
Answer: 30e025t\/ 10e02t\/ -2 50025t A

2- If the switch in the opposite circuit
opens at t = 0, find v(t) for t >0 and w(0).

Answer: 8e2V, 5.33 J.

Sl 120 ol sl 1 Vg T gy, Sl o =Y

el 1(0)=5 A s o,
Find i and vy in the opposite circuit.
Let i(0)=5 A. Answer: 5e°% A, -15e>3' V.

4-For the opposite circuit, find i(t) for t > 0.
Answer: 262 A t>0
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S- Determine 7, i,,, and v, for all 7 in the circuit shown in Fig. 7.22. Assume
that the switch was closed for a long time.

A . 4A, t <0
nswer: i1 = 46_2I A, > 0’

S 4V, t <0
T =(8/3)e HV, >0

lo:{

2 A, t <0
—(@4/3e P A, 1> 0 N
L%O L 1H
5

N 4Q§




6- The switch 1n Fig. 7.47 is closed at r = 0. Find i(¢) and v(¢) for all time.

Note that u(—t) = 1 fort < 0 and O for ¢ > 0. Also. u(—t) = 1 — u(z).
t=10
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t <0
"'(]—i—e“”’}% t>0"
o J2ov. t <0

1014 YV, >0

Answer: (1) =

A9 Cewds 120.58 o 1) V(1) Jlade sl t>0 Gl V() 5 jlae o -V

/- Find v(¢) forz > 0in the circuit in Fig. 7.44. Assume the switch has been ’0
open for a long time and is closed at t = 0. Calculate v(z) att = 0.5.

Answer: —5+ 15¢7% V,0.5182 V.
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8- Switch S1 in the following circuit is closed at t = 0, and switch S2 is closed at t = 2 s.

Calculate i(t) for all t. Find i(1) and i(3).

1=2 Answer:
S, 0, t <0
SL, 100 i(1)=42(1—e), 0<t<?
7<v MWy 36167302 =2
-0 20Q li(f)
6 A @ §159 %5}[ i(1) =1.9997 A, i(3) = 3.589 A.

awls >0 slel, i(t) 25 oloe 0 -4

The switch in Fig. 7.52 has been closed for a long time. It opens att = 0.
Find i(t) fort = 0.

Answer: 2+e¢ %) A 1= 0.
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